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Answer Key for Activity 1

Sample 1 is an inappropriate paraphrase because it merely substitutes a few key words for
synonyms instead of structurally changing the original source, and it additionally fails to cite the
source document. This paraphrase would be considered plagiarism.

Sample 2 is an appropriate paraphrase because it cites the source document, uses different
vocabulary and sentence structure, and accurately conveys the original document’s message.
Remember, though, that this example is only one possible way to correctly paraphrase the
passage—there are many viable options.
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How would you paraphrase the following passage?

“For over 20 years now biologists have been alarmed that certain populations of amphibians
have been declining. These declines have occurred both in areas populated by humans as well
as areas seemingly undisturbed by people. However, offering clear proof of the declining
numbers of amphibians has been difficult because in most cases there is no reliable data on
past population sizes with which to compare recent numbers” (Gitlin, 2001).

Your Answer:

Answer Key for Activity 2

Sample answer: Biologists have been worried about declining amphibian populations in areas
both inhabited and uninhabited by humans. Though they have been studying amphibian
populations for more than two decades, biologists have had a hard time providing indisputable
proof of population decline due to a lack of data on past population sizes (Gitlin, 2001).

(Note: This answer is only a sample. Your answer may differ significantly.)
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